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PAYA)

PAPER-6 (Aptitude Test for MBA/MCA)

English Language 0 Q. 110Q.25
Numerial Aptitude 0 Q.26t00Q. 50
Thinking & Decision Making : Q.51t0Q.75
General Awareness : Q.76t0 Q. 100

Paper 6 (English Language)

001. ..... word to the wise is sufficient. 004. Synonym of ‘ Obtain ’:
(A) an (B) a (A) Gain (B) Invent
(C) the (D) zero article (C) Associate (D) Empty
002. Choose the correct one: 005. One who takes pleasure in torturing others-
(A) The majority accepted the latter (A) Bestial (B) Sadist
proposal. (C) Cruel (D) Barbarous
(B) The majority accepted the later proposal.
(C) Both of the above 006. Antonym of ‘Arrogant’:
(D) None of the above (A) Gloomy (B) Idle

(C) Miserable (D) Humble
003. Synonym of ‘defend’.

(A) Protect (B) Shelter 007. Antonym of ‘compliment’:
(C) Preserve (D) None of the above (A) Hate (B) Insult
(C) Guilty (D) Slow
6-AA | [2] [ Contd...

https://previouspaper.in



https://previouspaper.in

008. A government by the people- 013. Choose the correct one:
(A) Monarchy  (B) Aristocracy (A) T always get my car serviced at this
(C) Democracy (D) Oligarchy service station.
(B) I always get my car servicing at this
009. Choose the correct one: service station.
(A) It was left to Virat to hit a majestic six (C) T always get my car service at this
and take India to a historic win. service station.
(B) It was left to Virat to hit a Majestic six (D) T always got my car serviced at this
and take India to a historical win. service station.
(C) Both of the above
(D) None of the above 014. ......... is believing.
(A) Seeing (B) Saw
010. Earlier, I....... contact you. (C) Seen (D) None of the above
(A) could not (B) cannot
(C) wouldnot (D) None of the above 015. He admitted being there .... the time of the
crime.
011.  Choose the correct one: (A) at (B) on
(A) I had finished my lunch before the kids (C) by (D) with
had come from school.
(B) I had finished my lunch before the kids | 016. Stop talking ... me in such a rude manner!
had been come from school. (A) with (B) to
(C) I had finished my lunch before the kids (C) on (D) at
has come from school.
(D) I had finished my lunch before the kids | 017. .......... is often painful.
came from school. (A) Wait (B) Waiting
(C) Await (D) The waiting
012. Choose the correct one:
(A) We were expected to win, but we lost. 018. ....... you are a genius, you cannot solve this
(B) We are expected to win, but we lost. puzzle.
(C) We had been expected to win, but we (A) Unless (B) Until
lost. (C) Either (D) Neither
(D) We have been expected to win, but we
lost. 019. 1... because you invited me.
(A) come (B) had come
(C) came (D) comes
6-AA | [ P.T.O.
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020. Choose the correct one:
(A) They thanked us.
(B) They thanked we.
(C) They thanked our.

(D) None of the above

7

N
NN
PAYA)

his rambling message ambiguous. Pick the

word that is closet in meaning of the word

‘ambiguous’.

(A) profound (B) inspiring
(C) ridiculous (D) unclear

022. The technical department enthusiastically
hired Ms. Sonali because she was proficient
in the use of computers. Pick the word that is
closet in meaning of the word ‘proficient’.
(A) sincere (B) adequate

(C) competent (D) skilled

Questions 23 through 25 refer to the following

passage:

Charles Darwin was born in 1809 in Shrewsbury,
England. He was a biologist whose famous theory of
evolution is important to philosophy for the effect it
has had on ideas relating to the nature of men. After
many years of careful study, Darwin attempted to
show that higher species came into existence as a
result of the gradual transformation of lower species,
and that the process of transformation could be
explained through the selective effect of the natural
environment upon organisms. He concluded that the
principles of natural selection and survival of the
fittest govern all life. Darwin’s explanation of these

principles is that because of the food supply problem,

021. Even though she’d read her supervisor’s

memo four or five times, she still found

the young of any species compete for survival. Those
young that survive to produce the next generation
tend to embody favorable natural changes that are
passed on by heredity. His major work that contained
these theories is On the Origin of the Species, written
in 1859. Many religious opponents condemned this

work.

023. Which of the following statements supports
Darwin’s belief about the origin of all
species?

(A) Man is descended from monkeys.

(B) All life forms developed slowly over
time from lower life forms.

(C) Natural forces do not affect life on Earth.

(D) All species were individually created.

024. Darwin’s explanation that the young of any
species compete for food and survival, and
those that survive are strong and pass their
traits on to their young was called which of
the following?

(A) belief in creationism

(B) the catastrophic theory

(C) theory of natural selection and survival
of the fittest

(D) the study of anthropology

025. According to the passage, how was Darwin’s

book, On the Origin of the Species, received?

(A) Scientists gave their immediate approval
of Darwin’s book.

(B) Religious  opponents  condemned
Darwin’s book.

(C) The world ignored Darwin’s book.

(D) Darwin’s book became an immediate

bestseller.

6-AA |
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Paper 6 (Numerial Aptitude)

026. A regular polygon has external angle 36°. | 026, U U 1 SfEshIT 36° B a9 3ThT
Then the number of sides is HGn‘aﬁ 6l 9ETT @
(A) 6 (B) 8 (A) 6 (B) 8
(C©) 10 (D) 12 (C) 10 (D) 12
027. InAABC, ZB=90°, AB=12, BC=16. Let D.E | ¢27. AABC #, /B = 90°, AB = 12, BC =16.
be points on AB and BC respectively so that o1 f6 D 3t E sA9: AB 31X BC W U8
DE=10. Then AE% + CD? equals. fog & 7% DE =10. a9 AE2+ CD? SR 3
(A) 356 (B) 500 (A) 356 (B) 500
(C) 544 (D) 578 (C) 544 (D) 578
028. A goat is tied to a rope fixed at the centre of | (28, Ueh Fh{l TH T Tk 1 &F & hg W 39 TR
a square field so that the length of the rope is aieft Y 2 fop e h s ot hi oSl
one third of the length of the side of the field. TS ! Tk fagre 31 Ife o) 9t qg;,[ %
If the goat grazes all the grass in the field fiw & &7 1 ot am@ =1 ) 7, 91 o= gg
within its reach, the percentage of leftover e kT a9 2
grass is (A) 30°3TR 40° % AT |
(A) between 30° to 40° (B) 40° 3TR 50° AT 4
(B) between 40° to 50° (C) 50° 3TR 60° e AL |
(C) between 50° to 60° (D) 60° 3TR 70° % AL
(D) between 60° to 70°
029. Which of the following statements is FALSE? | 029. = & & &1 @1 %eq 16T & 7
(A) Triangles with the same base and within (A) Th Bl ITMYR T 3R TH & THR
same parallel lines have the same area W@redl & o= 9 BYS aaea § s
(B) The diagonals of a rhombus bisect each gd 3|
other perpendicularly. (B) H‘F«I@ﬁﬁ ERCEARECT E:vﬁ I T
(C) The diagonal of a rectangle bisect each R fgafora a2
other perpendicularly. (C) 3Td o faehul {Fﬁ S THHIU T
(D) In a triangle, perpendiculars drawn fefora td 21
from vertices to the opposite sides are (D) ﬁ‘ﬂﬁ T 3t & @ ﬂTrlTBﬁ W ST
concurrent. T o T B R
6-AA | [5] [ P.T.O.
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030. The sum of all solutions of the equation

0

030. 37U [0, 2n] | THIHT tan 20 = tan > o
tan 20 = tan 9 in the interval [0, 2x] is ) 2
2 Tt gl T AN 3
(A) = (B) 2=
(A) n (B) 2=n
(C) 3= (D) 4n
(C) 3= (D) 4n
031. The expression .
031. =I5
6 cos0 sinb —20cos30 sin3 O + 6 cosO sin’0 ] ] ]
6 cos°0 sin® —20co0s0 sin3 6 + 6 cosd sin’0
equals
T 2
(A) cos46 (B) cos66
(A) cos40 (B) cos60
(C) sin40 (D) sin66 . .
(C) sin46 (D) sin66

032. The sides of AABCarea=4,b=6,c=28. | 032. AABC i ‘QGI@ a=4,b=6c=8 3l a9

Then tan% 1S tan% %
5
@ 3 ®) V2 I ®) 12
7
© /I D) V3 © 2 D) V3
033. In aAABC, the value of 033. AABC ﬁ,
sinA +sin B +sin C sin A +sin B+sin C
cosA cosB cosg cosA COS5 cosg
2 2 2 2 2 2
is HAE 3
(A) 1 (B) 2 (A) 1 (B) 2
©) 4 (D) 6 ©) 4 (D) 6

034. The 12 term of the sequence 2,6,12,20,30, | 034.  oft 2,6,12,20,30, ... , &1 12 91 92

., 18 (A) 110 (B) 132
(A) 110 (B) 132 (C) 156 (D) 182
(C) 156 (D) 182
6-AA | [6] [ Contd...
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035. The number of possible integral values of n | 035. n o Gufera W T T Fe e fore
for which the equation GHIeRuT
9x%+ 6nx +2n%—4=0 9x%+ 6nx +2n%—4=0
has real roots, is o aTEdfaeh qd 8,8
(A) 5 B) 4 (A) 5 (B) 4
©) 3 (D) 2 ©) 3 (D) 2

036. The sum of real and imaginary parts of the | 036. HfFHs T (22t33i;2 — (22:_?;?2 *
complex number

(2+3)>  (2-3)> T TR (e HFT 1 INT 7
2—3i 2+3i

is *) 1% ®) 1
W 13 ®) 13 © 13 O) i3
© 13 D) 23

037. The letters of the word ‘MEDICINE’ are | (37. <MEDICINE’ ez % 3TeT I 3 W@ T
arranged in such a way that no two consonants rafeerd fman T R 6 318 4 e U
are together. The number of ways this can be 1oy el él T8 B F qOhi S TET B
done is (A) 120 (B) 360
(A) 120 (B) 360 (©) 720 (D) 2880
(©) 720 (D) 2880

038. In a 30 year period the rural population of a | 038. 30 @t sh reifer o feneft e <ht grfion el
country increased by 10% whereas the urban i 10% i ?{r@ Eg Seffen I Sy # Wl
population increased by 30% during the same el § 30% qr@ Eé' afe 38 wafy &
period. If total population of the country S < o St § 16% El% §§,
increased by 16% during this period, the ratio a1yl Srendl ST urHior el % e
of urban population to rural population is STHTd 2
(A) 3:7 (B) 4:6 (A) 3:7 (B) 4:6
(C) 4:8 (D) 3:9 (C) 4:8 (D) 3:9

6-AA | [7] [ P.T.O.
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The number of positive integers less than 100
which are not divisible by 2, 3, or 5 is

(A) 26 (B) 27

(C) 28 (D) 29

Harish spends 40% of his salary on food,
30% on house rent and 12.5% on clothes.

If he is left with Rs. 14000, then his total

salary is
(A) 60000 (B) 80000
(C) 90000 (D) 100000

A car travels 240 km in 6 hours. It travels
partly at a speed of 60 km/hr and partly at a
speed of 30 km/hr. Then the time (in hours) it
travels at speed of 30 km/hr is

(A) 2 (B) 3

C) 4 (D) 5

Direction (42-44): Study the given table and answer

the questions based on it.

Enrolment of students (girls

& boys) and

percentage of girls among them over 5 years in

039.

040.

041.

100 & &Y €-TcH qUiiehi hl &A1 AT 2,3,
a7 5 9 favrsy 7= 7

(A) 26 (B) 27

(C) 28 (D) 29

O A9 I T 40% 9IS W, 30% =X
o TR W 37T 12.5% HUS W @ Hd &l
Ifg 3Tk U\ 14000 T 9d 7, q9 IGHI

F o 8
(A) 60000 (B) 80000
(C) 90000 (D) 100000

Teh R 6 6 H 240 Tt 1 T aF
31 T8 $o gl 60 Feprft /eier 1 fa @ 3i
%o gl 30 ot /eier <t fq & = et B
5t =g avg (ue ¥) o @8 30 foft /wen
Y T & AT A B, B
(A) 2 (B) 3
(C) 4 (D) 5

e (42-44): f7 gt 1 sterem IR 396

a1y feu U gt % I D)

T GEH % fafie fawl § fUusa 5 awi @ wEl
(refepail 3T oIgehi) o1 AT 3N Ih TeT

different disciplines of an institute. AS(RAT T Tfawrd|
Disci- PHYSICS CHEMISTRY | MATHEMATICS fawa Wifees o WA fom RIUG]
plines Tl | W | FAOE | s H | Ao | e & | Fa on
Year |Percent-| Total |Percent-| Total |Percent-| Total Thm SR bt
f f f
age of |Students| age of |Students| age of |Students ~ol4 30 250 60 260 40 230
Girls Girls Girls
2014 30 250 60 260 40 280 2015 40 320 45 240 35 320
2015 40 320 45 240 35 320 2016 45 340 50 250 40 300
2016 B | 340 | S0 ] 250 | 40 | 300 2017 35 | 320 | 35 | 220 | 45 | 340
2017 35 320 35 220 45 340
2018 50 350 35 240 40 315
2018 50 350 35 240 40 315
6-AA | [8] [ Contd...
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What was the average of number of girls in of
all disciplines in the year 2015?

(A) 116 (B) 120

(C) 124 (D) 128

What was the ratio between the number
of girls and number of total students in
Chemistry during the given years?

(A) 3:11 (B) 4:11

(C) 5:11 (D) 6:11

What was ratio of number of girls and boys
of all disciplines in the year 2018?

(A) 71:104 (B) 73:104

(C) 75:104 (D) 77:104

Direction (45-47): The pie chart given below shows

the expenses of a student on various items. Study the

chart and answer the questions based on it.

MONTHLY EXPENSES OF A STUDENT | TF Tuition Fee

SF  School Fee
BE Boarding

Expenses

TE Transportation

042. =¥ 2015 ® weft fowai o ergferat <t wen
1 Ed = AqT?
(A) 116 (B) 120
(C) 124 (D) 128

043. feu U ant & Qe WreA fome d aefe

I T 3R FH BHT hl AT o o=
AT T AT?

(A) 3:11 (B) 4:11

(C) 5:11 (D) 6:11

044. 9§ 2018 ® axft fow=ri <t oIt 3R aTgani
< HE&AT T T AT 17
(A) 71:104 (B) 73:104
(C) 75:104 (D) 77:104

o (45-47): Fi= ez mon o = fafya agi W
Teh B9 g1 TohT T @9 bl gwiidl 21 =Te i
I Hl I IHeh IMIR T I o I 3|

TF RHE 6™
SF  &hd sl B
BE ¥ISH 3R & @4

TE 9IdmEE @<

Expenses PE ARt T
PE Personal Expenses ST wi@a-amft
ST Stationeries & RIEDELED
Textbooks
6-AA | [9] [ P.T.O.
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4

4 045.  Ifthe amount spend on stationary& textbooks | 045, afg SrEa-wmfi 3R UTeagEdHl W @ i
was Rs. 5400, then what was the amount TS T 5400 w9 off, q1 ufasT W &= 6 T8
spend on transportation? afst &7 ot ?

(A) 7400 (B) 7600 (A) 7400 (B) 7600
(€) 7800 (D) 8000 (C) 7800 (D) 8000

2N
NN

papa  046.  School fee is what percent of tuition fee? 046. T EaReaee| EONE] g 1 fepdr gfawa 27
(A) 47% (B) 48% (A) 47% (B) 48%
(C) 49% (D) 51% (C) 49% (D) 51%

047. If the total monthly expenses were Rs. | 047, =fg $a1 wifis @& €9 60000 & a aifém

60000 then the money spent on boarding and RS R CE R IR CE R P IRICICE IR
personal expenses was: (A) 24600 (B) 24800

(A) 24600 (B) 24800 (C) 25000 (D) 25200

(C) 25000 (D) 25200

Direction (48-50): Study the following graph to | fadwr (48-50): feu 7w wsi &1 S o4 & fow

answer the given questions. The graph provides the fafaf@a 9@ &1 o729 %t =9 § 9y
percentage of profit earned by the two firms X and Y 2014 & 2018 d% a FHafrt X 3Ry am
from 2014 — 2018. FrfStd yfesra oy feam w2 )
Percentage of Profit = (Incog;'ei):zzme) %100 TR T 60
“+X-=Y —~X-&Y

5 45
40 A 40
35

35

30 30

25 25

20 20

2013 2014 2015 2016 2017 2018 2019 2013 2014 2015 2016 2017 2018 2019

6-AA | [10] [ Contd...
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048. Ratio of expenditures of firms X and Y in | 048. 2016 § &9} X 3R Y & =T S CRIG]
2016 was 4:5. What was the ratio of their 4:5 97| 34} 98 39T AT Hl STATA AT AT?
income in the same year? (A) 26:35 (B) 25:34
(A) 26:35 (B) 25:34 (C) 24:34 (D) 23:36
(C) 24:34 (D) 23:36

049. If the income of X in 2017 & 18 were in | 049. If@ 2017 R 18 A X FI A=A 3: 4% FUTd
the ratio of 3:4 then what was the ratio of the H off, 1 39 a9 H Ul X o A I A
expenditures of the firm X in these years? ERIIING
(A) 59 (B) 6:11 (A) 5:9 (B) 6:11
(©) 7:10 (D) 7:9 (C) 7:10 (D) 7:9

050.  If the income of X in 2014 was equal to the | 050. Ifg 2014 § X &1 3T 2015 H Y & =4 &
expenditures of Y in 2015, what was the ratio s off, 1 7 a9 § 37 AT i CREIREER]]
of their respective profits in these two years? oqr?

(A) 1:1 (B) 10:13 (A) 1:1 (B) 10:13
(C) 11:15 (D) 13:15 (C) 11:15 (D) 13:15
6-AA | [11] [ P.T.O.
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Paper 6 (Thinking and Decision Making)

In a certain code JOSEPH is written as

https://previouspaper.in

051. T %e H JOSEPH ! FKOALD forar

FKOALD. In the same code GEORGE will L] %e T GEORGE ! forat Smm:
be written as: (A) CADMNO (B) CAKNIT
(A) CADMNO (B) CAKNIT (C) CAKNCA (D) JAKINS
(C) CAKNCA (D) JAKINS

052. In a certain language, "123' means "bright | 052, we qrWr ¥ ‘123’ @ A @ O B AEH,
little boy', "145' means "tall big boy' and ‘145’ 9 qreqd & R IS SRl a9 637
"637' means "beautiful litter flower'. Which g dre9d @ EE( BT % | 39 9T o g 3T
digit in that language means "bright'? 1 e oS 8 7
(A) 2 B) 3 (A) 2 (B) 3
© 1 (D) 6 ©) 1 (D) 6

053. Raju is brother of Ravi, Rekha is sister of | 053, o) a1 Wi 2, W@ ot it o1& 7, M@
Atul. Ravi is son of Rekha. How is Raju W@ H YA B | TS W@ A hH T g7
related to Rekha? (A) I (B) Wi§
(A) Son (B) Brother (C) Tt (D) &
(C) Daughter (D) Sister

054.  One boy tells the other that there aretwoboys | (54, T TEHT g Agh & hadl 7 fob W A
in front of me. The other one also shouted ASh & | Th gul oo fagrar 7 fh 3Tk
that he too had two behind him. How many 1 o & e 2 | Fa fopaa ATk 37
are they? (A) 6 B) 5
(A) 6 (B) 5 (C) 4 (D) 3
(C) 4 (D) 3

055.  Mohan ranks sixteenth from the top and forty | 055, e # digd &1 36 SW A 1641 aa1 7= @
ninth from the bottom in a class. How many 499t 8 | et ° fopad foremeff €7
students are there in the class? (A) 65 (B) 64
(A) 65 (B) 64 (C) 66 (D) 63
(C) 66 (D) 63

6-AA | [12] [ Contd...
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056. Sanjay walks 10 km towards North. From
there he walks 6 km towards South. Then,
he walks 3 km towards East. How far and in
which direction is he with reference to his
starting point?

(A) 6 km West

(B) 7 km West

(C) 7 km East

(D) 5 km North-East

Directions for Q.57 Q.58: There is a certain relation
between two given words on one side of : : and one
word is given on another side of : : while another
word is to be found from the given alternatives,
having the same relation with this word as the words

of the given pair bear. Choose the best alternative.

o I h T 10 frft. Ioar 2 | 9T |
ag cfequr <t @ 6 forrfl. Torar 8, 99 98 3
fopeft qd <t T =TT ® | TN foig / o1a
g fepaHt ¥ e fope foem # 27

(A) 6 foprft. qfsm <t @

(B) 7 fertft. ufsm <t T

(C) 7 forft. g & T

(D) S forrft. IT-q I T

056.

v.57 e . 58 ¥q fowm fdon: g 7 % v T
ﬁ‘l@aﬂ@%aﬁﬂ@wa%aw “::”%I-_a'
% TE T T veg fe T B, Fh g AT H
= feu T foshed § @ wH e 7 foeht wveey 54
e | I TR w1 A A U W A wedd H R
Tg fashed 1.

057.  Girl : Beautiful : : Boy : ? 057. TSl : G :: TS : 7
(A) Smart (B) Heroic (A) gfgad (B) ¥EIGL
(C) Courageous (D) Handsome ©) Fefar (D) gt
058. Touch : Feel : : Greet : ? 058. TUST : FaEAT: : AfETEd : ?
(A) Smile (A) gERUAT
(B) Manners (B) Remm
(C) Acknowledge (C) 3R Jehd hidAT
(D) Success (D) g®ddn
059. 4,23, 60, 121, the next number is: 059. @A 4, 23, 60, 121, .eeevrrnnreennn |
(A) 212 (B) 221 ST T AT B ?
(C) 241 (D) 242 (A) 212 (B) 221
(C) 241 (D) 242
6-AA | [13] [ P.T.O.

https://previouspaper.in




https://previouspaper.in

060. If book is called watch, watch is called bag, | 060. e q&deh Eq) ugl al S, ugt Eolco) hal
bag is called dictionary and dictionary is SR, ST ! IT6GhIY gl S 3T Iegehiy
called window, which is used to carry the ED) f@@ﬁ HET S dl E[{-_rlaff & T+ fou
books? forerent =T fepa STTEIm ?

(A) Bag (B) Watch (A) ST (B) ®Et
(C) Dictionary (D) Book ORECE (D) T&h

Directions for Q.61 Q.62: Read the following | .61 T 9.62 %@ feon e f=fafed SRRL ED)

information carefully and answer the questions that Wﬂﬁ? Uq 3R 35 a1y fou T et b1 I e

follow: A, B, C, D, E, 3R F g &I T g Hlh Th et A

A, B, C, D, E, and F are seated in a circle facing the EE) gQ% |Fue B+ fmd D7 A,D%B ElRileirE:]

centre. D is between F and B. A is second to the left | &0 a2 E  grRff IR & g@U 2 |

of D and second to the right of E.

061. Who is facing A ? 061. A % TTHH S 87
(A) D (B) B (A) D (B) B
(C) Either ForB (D) F (C) MAFAB (D) F

062. Who is facing D? 062. D T S 27
(A) C (B) A (A) C (B) A
(C) E (D) None of these (C) E (D) I O HIs T

063. A party consists of grandmother, father, | 063. U e | e, ﬁ?ﬂ, HIdT, 9 9= 3 IThT
mother, four sons and their wives and one son gfe=t aen g 9 <kl Tsh 93 wd ﬂﬁl?ﬁ g
and two daughters to each of the sons. How 34 urdl # P fopaft ufgemd 87
many females are there in all? (A) 14 (B) 16
(A) 14 (B) 16 (C) 18 (D) 24
(C) 18 (D) 24

6-AA | [14 ] [ Contd...
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Directions for Q.64 to Q.67: In the given figure | 4w, ¢4 | 1. 67 3q Teem fdw: f= few @ fom ° =
below there are three intersecting circles each | me weh g@i Sl hied 3T 2 S ueh fea ol 6 T
representing certain section of people. Different | & zori @ 8 | faftm &= 1 a @ g a 2Afha foran
regions are marked a to g. Read the statements ineach | ey 3 | ffafega v 4 few ™ oAl 1 g qon
of the following questions and choose the letter of | sy & T&t TpR & Yeiia @ a1l s ﬂﬁ |
the region which correctly represents the statement.
A B .
Painter Painter
Chinese A Chinese
‘ Musicians Musicians
C

064. Chinese who are painters but not musicians? | 064. =l S Yex 8, oifehd difiaehr 8 & 7

(A) b B) ¢ (A) b (B) ¢

©) d D) ¢ (©) d (D) ¢
065. Painters who are neither Chinese nor | 065. WX St =1 al =t g 71 & Tftqerr ?

musicians? (A) b (B) ¢

(A) b (B) ¢ © f D) ¢

© f (D) ¢
066. Chinese who are musicians but not painters? | 066. =l ST TfidehR B AAfeh Uet 8l 37

(A) d (B) ¢ (A) d (B) ¢

©) b (D) a (C) b (D) a
067. Chinese who are painters as well as | 067. =l ST Yo o G1Y-E1Y Eideh & ?

musicians? (A) a (B) b

(A) a (B) b ©) ¢ (D) d

©) ¢ (D) d
6-AA | [15] [ P.T.O.
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Directions for Q.68 Q.69: In each of these questions
one statement has been given followed by four
inferences A, B, C and D. Find out the inference that
definitely follows from the given statement.

068. All the students passed the examination.
Some of the students are girls.

(A) Some of the boys passed the exam

(B) None of the boys passed the exam

(C) No girls students failed the exam

(D) All girls student failed in the exam

069. Some leaders like Rajesh are corrupt
(A) Rajesh is not corrupt

(B) Leaders are corrupt

(C) Rajesh is sometime not corrupt

(D) Some leaders are corrupt

Directions for Q.70 Q.71: In these questions four
numbers are given. Select the one which is different

from the other three.

T.68 T 9.69 3 fowm fder: 7 usi § v wed
fearm man 2 o wm fsnd A, B, C wa D feg @ )
30 e &l wasy S fou T w1 ffda w9 @

STTET BT B |

068. woft faenfoRni 3 wdien org = <t B | F©
Tereneff wrsfera 2 |

(A) FD deehi I qher I 6 3

(B) forelt eigeh 3 wiien um =&t i

(C) hié orgehl wire # et 7 g8

(D) |eft referan wlenm o et & A

069. TSIY I8 H 4dT YE 3 |
(A) TS 98 & 8

(B) el 9E &

(C) TS %o THI ¥E el 8
(D) FD a1 ¥¥ &

T.70 v 971 ¥g feom fdwr: 57 v # =R w@ &
T 8 | 399 ¥ 39 Ush HAT bl UTH <hIfSTT S 1fehat
¥ IR |

070. (A) 1754 (B) 2690 070. (A) 1754 (B) 2690
(C) 7324 (D) 9611 (C) 7324 (D) 9611
071.  (A) 27 (B) 66 071. (A) 27 (B) 66
(©) 83 (D) 17 (C) 83 (D) 17
6-AA | [16 ] [ Contd...
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072.  Five boys participated in a competition. Rohit | 072, we yfqegul 4 uiw wesi 4 wrier) for=m |
was ranked lower than Sanjay. Vikas was Ufgd 1 T gog 9 = o1 | fae@ =1 &
ranked higher than Dinesh. Kamal's rank was feIs1 ¥ W o | A 1 Tk Ul wa e
between Rohit and Vikas. Who was ranked & o9 A7 | 30 9 g9 SR I fopgent o1 ?
highest? (A) &5 (3) foepmm
(A) Sanjay (B) Vikas (3) feaw (3 wad
(C) Dinesh (D) Kamal

073. IfDELHIiscoded as 73541 and CALCUTTA | ¢73. 9fe fegt st %he | T 73541 foran mam @ qun
as 82589662. How can CALICUT be coded? STkl I 82589662, T FhTciiehe hl hl He
(A) 8251896 (B) 5279431 foma 11 gehar 27
(C) 5978213 (D) 8543691 (A) 8251896 (B) 5279431

(C) 5978213 (D) 8543691

074.  Look at this series 56, 72, 90, 110, 132, 150, | 074. =& %@wqﬁé@ 56, 72, 90, 110, 132, 150,
one term in this series is wrong. Find out the Bl gl—@a-[ T Teh &A1 TTeAd 2 | TTeid ST hl
wrong term. g i
(A) 70 (B) 90 (A) 70 (B) 90
(C) 110 (D) 150 (C) 110 (D) 150

075. In a group of buffaloes and ducks, the | ¢75, we 99 wag @i & g o, W wE
numbers of legs are 24 more than twice the aﬂﬁ A ge g 24 e g | 39 LB |
number of heads. What is the number of g9t &1 g frad 272
buffaloes in the group? (A) 10 (B) 12
(A) 10 B) 12 C) 6 (D) 8
€) 6 (D) 8

6-AA | [17] [ P.T.O.
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Paper 6 (General Awareness)

What is the ranking of India in World Bank’s | ¢7¢. T@r # 2019 & Y & 999 s 1 SHUR
Doing Business (DB) for 2019 globally? S U kA 91 T 2
(A) 77 (B) 1234 (A) 77 B) 123 a
(C) 45t (D) 89th (C) 45 af (D) 89 af
077. Who is the winner of Dada Saheb Falke | ¢77, <rer @Tee Hieish TEHR 2018 1 fo=idT S
Award 2018? 2
(A) Dahrmendra (A) g
(B) Kader Khan (B) HIT@H
(C) Vinod Khanna (C) forig @=m
(D) Shashi Kapoor (D) wfa F
078. Who won the best actress award in 65" | g78. 653 T fhew Tmg 2018 | ford Taerss
national film festival 2018? IR 1 EEHT e mam 2)
(A) Divya Dutta (A) fee g
(B) Dipika Padukone (B) ifYept tr@qﬂq
(C) Sri Devi (C) et
(D) Kangana Raut (D) T T34
079. What is the total number of medals won by | (79, otcl"f{-l?is, 3-|T{~.;|(Er|q| T g B MY
Indian in Common wealth Games 2018 held g 2018 H 9 &l F ford gesh fiat B
in Queensland Australia? (A) 64 (B) 65
(A) 64 (B) 65 (C) 63 (D) 66
(C) 63 (D) 66
080. Which of the following Indian company | ¢80, 3&H § forg WA F T 100 billion SR
becomes the first to reach 100 billion dollar ENRCISIES qsﬁq;(m uTed TR 21
market capitalization? (A) d.E T,
(A) TCS (B) fasi
(B) WIPRO (C) BT
(C) INFOSYS (D) Hfgg 3 wlg=
(D) MAHINDRA AND MAHINDRA
6-AA | [18] [ Contd...
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081. Which city is recorded as the most polluted | 081. fova @y 9ied ol a@ I EARKCEIPED
megacity in the world by the World Health EI@FI AT T 2
Organization (WHO)? (A) R (B) #fifam
(A) Cairo (B) Beijing (C) feoett (D) BWTSRIT
(C) Delhi (D) Hong Kong
082. Which company has purchased 77 % stock in | 082. forg Ol T 77% 9EIE YA 3-hEd
Indian e- commerce company Flipcart? T freuerte d @ R
(A) Amazon (B) Alibaba (A) TS (B) 3rcftema
(C) Walmart (D) Tata (C) aTemTe (D) 2T
083.  Which of the following player scored the first | 083, =8 ¥ form Raeret 3 Frwr fovaswy TN
hatrick goals in FIFA world cup 2018? 2018 # &fes Mt fora 21
(A) Cristiano Ronaldo (A) Torfeeamt TaTest
(B) Luis Suarez (B) 59 GRS
(C) Lionel Messi (C) Tomae ot
(D) Diego Costa (D) feamm wreen
084. Which country has recently withdrawn from | o84, forg 291 94 g1 €1 § 3194 sl AHT SR A
the Human rights commission? 31T R foram B)
(A) Germany (A) St
(B) United Kingdom (B) IATses fohen
(C) Russia (C) W&
(D) United States of America (D) g’gqa TS ARt
085. According to the World Bank report 2017, | 085. favg 9= f@ie 2018 & ITHR WRA T TAH
India presents the world’s ------ largest fava & ge@ 9t Ty | S 9T 3l
economy. (A) 4 B) 5
(A) 4t (B) st ©) 6 (D) 7
(C) 6th (D) 7th
6-AA | [19] [ P.T.O.
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Which of the following is the first Indian 0 9 hiF 9] Ugall YR UsY @ foed T
state to have a national biofuel policy? I gya Aifd B)
(A) Madhya Pradesh (A) TEIICH
(B) Rajasthan (B) U&=
(C) Gujarat (C) TeIId
(D) Chhattisgarh (D) BUETE

i

B2 087.  Inwhichstate, the national sports University is | og7. TS @ fava fommer erfafem 2017 &
being set up under national sports University it fre U5 0 TT ©d fava T
bill, 2017? TorTfuq femam T 2|
(A) Goa (B) Kerala (A) TEn (B) ohiell

(C) Assam (D) Manipur

(C) sTmE™ (D) TR

088. Which  festival was celebrated to | 088, WRd HTHR NI @l IY 1 Hlolohed TTEh M

commemorate the two years of surgical strike & U 19 91 e g9/ T 2|
by the Union Government? (A) TUHA g

(A) Parakram Parv (B) WTEd vd

(B) Sahas Parv (C) ofiar ud

(C) Virta parv (D) o= wd

(D) Vijay Parv

089. What was the theme of world tourism day | 089, fovg wfeq feag 2018 =1 fowa = o)
2018? (A) T R Afyaeh uftadq

(B) Hdd qded

(C) Tk fotu wieq

(D) Ueh 3TE T - Ueh WS ITAEH

(A) Tourism and global transformation

(B) Sustainable tourism

(C) Tourism for all

(D) One  billion tourist- one billion

opportunities

6-AA | [20] [ Contd...
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090. The name of three islands in Andaman’s | 090. 37ff &Tc1 & H 37U & ¢I9 HAA g, i
namely Ross, Neil, and Havelock were 3R B3I g9 1 A ekl I8 W@ e
changed recently as T B
(A) Uday, Abhuday and Pragati (A) 3T, IAYI 3R Tl
(B) Netajee Subhash, Saheed and Swaraj (B) JaTsit gy, wEig I TS
(C) Bose, Sardar and Atal (C) ¥, TER 3N 31ed
(D) Kabir, Rahim and Nanak (D) e, WM IR T

091. Which of the following state has merged | 091. 30 O fohd U= | STTHE Tt 3T gy faamn
Anand Mantralaya and Religion Department ol firetreRt T fawm ‘stearen’ s 2|
to create a new Department called (A) TSTEIHE
‘Spirituality’? (B) 3 eI
(A) Rajasthan (C) HET e
(B) Uttar Pradesh (D) BTETG
(C) Madhya Pradesh
(D) Chhattisgarh

092. What was the NASA insight mission which | 092. +1&1 % ga1ee fiwE o on St fo e W
landed on Mars in 2018? 2018 T I T
(A) To study fast radio broad (A) a1 S ST 1 ATRA
(B) To study atmospheric structure (B) QTATALOl LA 1 TR
(C) To study internal structure (C) ATAN BT T A
(D) To study the possibility of future human (D) wfss ¥ UHa & @ hl FWEHT

habitation I
6-AA | [21] [ P.T.O.
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Which of the following schemes have | 093, 36 ¥ %9 = Iw(V) &1 & A yaqﬁﬁa
been subsumed in the recently approved ITISAH 9RA - TS Ty HLeor Ty o
‘Ayushman Bharat® — National Health e & = )
Protection Mission (AB-NHPM)? (A) TS T ST A
(A) Rashtriya Swasthya Bima Yojana
(RSBY) (B) di{ea ARG T ST o1
(B) Senior Citizen Health Insurance Scheme (C) TS Site ST ST
(SCHIS) (D) (A) & (B)
(C) National Life Insurance Scheme
(D) (A) & (B)
094. Which author has been honoured with | 94, 2018 & TS TR o Trger gafag
the Jnanpith award in 2018 in the field of fopa T R
literature? (A) Il T
(A) Arundhati Roy (B) W e
(B) Krishna Sobti (C) I LICROIL]
(C) Amtiav Ghosh (D) 5] ger
(D) Manu Bhandari
095. Which of the following two countries | (95, T o fhg o o A fefea a=am @
launched the digital collaboration plaza SIDCOM hT 9&9uT o B
“SIDCOP”? (A) WRA 3 sfieten
(A) India and Sri Lanka (B) ¥ 3R =TS
(B) India and China (C) ¥ 3R efeqor aTshiet
(C) Indian and South Africa (D) WRA 3R e shifan
(D) Indian and South Korea
096. Who has become the first player in history to | (9. T U ®H 91 e § yud Raemst ' S
win ICC Cricketer of the Year, ICC Test, and e fepehet a1t T2 TR ICC T AT
the ODI Player of the Year awards in 2018? TEHT 2018 T feom o 2
(A) Rahul Dravid (A) A ofae
(B) Virat Kohli (B) fore rga
(C) Gautam Gambhir (®) Mag TR
(D) M S Dhoni (D) HE. e
6-AA | [22] [ Contd...
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097. The General Data Protection Regulation | 097. ST Siel g sfafem TR weT |
(GDPR) is associated with which of the geferd 2|
following organization? (A) Tova MR e
(A) World Trade Organization (B) §[ﬁ13ﬁ'€[ g
(B) European union (©) 34?'"0'@'& qal AN
(C) International Monetary fund (D) fava wamees @
(D) World health Organization
098. Recently, 10 year challenge was a viral trend | 098. 3T T 10 91t T HehTecdT arTioes Hifeam @
on social media. It 1s associated with which T g1 ATl I8 sqﬁ 9 fere grafea %I
of the following? (A) TR giEd
(A) Climate change (B) TRl afEd
(B) Job change (C) Tt & e
(C) Freedom from illness (D) ERCIR I
(D) Facial recognition
099. Which of the following is associated with the | 099. 3:@ g i TS aﬁiﬂg g gafed %
term Edge TPU? (A) HbM 9 @ grT foehfda
(A) Artificial chip developed by Google (B) ?&W o aTgshETe g foehfya
(B) Artificial chip developed by Microsoft (©) °Ch|';11-| o et gr faemfyd
(C) Artificial chip developed by Apple (D) ?%W fog et g foemfaa
(D) Artificial chip developed by Intel
100. Base Erosion and Profit Sharing (BEPS) | 100. Eee) sﬁGF[ R wiftee sfeT Slil'ﬁ g ferom
refers to grafed Bl
(A) Avoiding tax in a country where profit is (A) T N T T I A <aT A&l o o 7
made (B) o3ft St i T faesht safea o1 fiem @l
(B) Domestic deposits credited to foreign ©) YfecTeh Tefet Seh o1 UAYTT Shl ST o
nationals K]
(C) Increasing NPA of public sector backs to (D) TSRS ST TR Tsh TEANT FhTE i
erode profit o & g
(D) Transfer of revenue to its subsidiary to
make profit
6-AA | [23] [ P.T.O.
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UPSEE 2019
PAPER-6: CODE AA*

ANSWER KEY, Examination Date: 21-04-2019

1 b 26 C 51 C 76 A
2 a 27 B 52 A 77 C
3 a 28 D 53 A 78 C
4 a 29 C 54 D 79 D
5 b 30 D 55 B 80 A
6 d 31 D 56 D 81 C
7 b 32 A 57 D 82 C
8 C 33 C 58 C 83 A
9 a 34 C 59 A 84 D
10 a 35 A 60 C 85 C
11 d 36 B 61 B 86 B
12 a 37 C 62 A 87 D
13 a 38 A 63 A 88 A
14 a 39 A 64 A 89 A
15 a 40 B 65 C 90 B
16 b 41 C 66 A 91 C
17 b 42 A 67 C 92 C
18 a 43 C 68 C 93 D
19 C 44 D 69 D 94 C
20 a 45 C 70 C 95 B
21 d 46 B 71 D 96 B
22 d 47 A 72 A 97 B
23 b 48 A 73 A 98 D
24 C 49 D 74 D 99 A
25 b 50 B 75 B 100 A
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